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Abstract

This paper analyses the effectiveness of child-subsidy support policies in a general
equilibrium overlapping generations model with endogenous fertility, child quality choices
and human capital formation. It is shown, somewhat paradoxically, that only if the preference
for the quality of children is higher than the preference for the quantity of children, then a
child subsidy policy gives raise to an increase in both income per-capita and fertility rates,
while, on the contrary, in the case in which parents are relatively more interested to the
number rather than to the quality of children, a child-subsidy support policy may just reduce
fertility behaviour, and, in any case, it always depresses the level of income per-capita.
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